Week 5 Problem Session

Thursday, February 4, 2021

10:52 AM

last week: virial theorem

$$\underline{\tilde{\Phi}}(x) = -\int \frac{G_1(x')}{(x-x')} d^3x'$$

If we have p(r)

> gravitational force (F)

uniform density sphere

viral theorem

$$\rho(r) = \begin{cases} \rho = \text{const}, r \leq \alpha \\ 0, r \geq \alpha \end{cases}$$

(i) radial force
$$Fr(r) = ?$$
(ii) potential $\Phi(r)$
(iii) $PE = ?$

(iv) virial thm, 2 < KE7+ < PE> = 0

$$F_r = -\frac{G_1Mm}{r^2} = -\frac{G_1Mm}{r^2} \int_0^r (-4\pi r^2) dr$$

$$(ii) \ \, \overline{\downarrow}(r) = -\left[\begin{array}{c} \overline{\downarrow}M(cr) \\ \overline{\downarrow} \end{array} \right] + 4\pi \left[\int_{r}^{\alpha} f(r) \cdot r \, dr \right]$$

$$inside \ \, r$$
outside r

$$= -\frac{G}{4} \cdot f \cdot \frac{1}{3} \pi r^{2} - \frac{2}{4} \pi G f \cdot \frac{1}{2} (\alpha^{2} - r^{2})$$

$$= -\frac{4}{3} \pi G f r^{2} - 2 \pi G f (\alpha^{2} - r^{2})$$

$$= -2 \pi G f (\frac{2}{3} r^{2} + \alpha^{2} - r^{2})$$

$$= -2 \pi G f (\alpha^{2} - r^{2})$$

$$= -2 \pi G f (\alpha^{2} - r^{2})$$

$$= \frac{1}{2} \sum_{i} m_{i} \phi(r_{i}) = \frac{1}{2} \int_{0}^{a} \phi(r) \cdot f dV$$

$$= \frac{1}{2} \int_{0}^{a} - 2 \pi G f (\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$= -4 \pi^{2} f G \int_{0}^{a} \frac{(\alpha^{2} - r^{2}) \cdot f \cdot 4 \pi r^{2} dr}{\alpha^{2} r^{2} - r^{2} / 3}$$

$$\frac{a^{5}}{3} = \frac{a^{5}}{15} = \frac{4}{15}a^{5}$$

Substitute M = 4 Ta a? l'into P.G.

Compare with general form:

$$PE = -\frac{GM^2}{27r}$$
, where $7 \sim 1$

For uniform density sphere,

$$\frac{1}{27} = \frac{3}{5} \Rightarrow 7 = \frac{5}{6} \sim 1$$

(iv) obtained PE > virial theorem to get

mass M.

HW4 hats

- what about Plummer sphere?

$$\int_{\rho} (r) = \frac{3 \mu_{p}^{2}}{4\pi} \cdot \frac{M}{(r^{2} + \alpha_{p}^{2})^{5/2}}$$

$$\phi_{p}(r) = \frac{GM}{\int r^{2} + \alpha_{p}^{2}}$$

- surface brightness

=) sheek notes of week 2.